Scan the lesson. Predicttwo 'Hungs' you Wwill learn abaufﬂae
- slope-intercept form of alinear equation.
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Football An interception in football is when a defensive player
catches a pass made by an offensive player. |

In a nonproportional linear relationship, the graph passes through
the point (O, b) or the y-intercept. The y-intercept of a line s the
y—cnnrdmate of the point where the line crnsses the y-axis.

Complete the steps to derive the‘equatmn for a nonproportional
linear relationship by using the slope formula.

Slope formula
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[, __L;_XL‘ (x1,¥1) = (0, b) (x, y)
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Simplify.
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Multiplication Property of Equality

Addition Property of Equality

y-intercept

How can knowing about an interception in football help you remenftber
the definition of y-intercept?
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e Nonproportional linear relationships can be written in the form
| y = mx + b. This is called the slope-intercept form. When an equation

is written in this form, m is the slope and b is the-y mtercept

' ( Examples ' , e

1. State the slope and the y-intercept of the graph of the
= =)y == - ‘P
equation y = X 4. W':i 2.
2 Z X + ( "'4
y= Ex + (—4) Write the equation‘in the flﬁ'l}‘ mx 4 b.
[Shorw y=mx+b m=%.h=—d SDFE/-" Y'lﬂ/{'-“‘
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a.ﬁw— 2rk -2 .
. ‘{-'IIM' - 3 ] The siope of the graph is 3 and the y—:nterc;ept is —4.
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2. Write an equation of a line in slope-intercept form with a slnpe
of —3 and a y-intercept of —4. Y = WX -I-'

| y=mx+b Slope-intercept form Y _......’5x 4 (:..-LD
y" it

y==3X+ (—4) Replace m with =3 and b
l y= —3x—4 Simplify.

@ F\V\d Whm 3 Write an equation in slope-intercept L AN 1]

‘ & form for the graph shown. y-Intercept: 4

wle' Oi 6% ms'fhe y-intercept is 4. From (0, 4), you Lol: *
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( "\ﬂ‘\"' move down 1 unit and right 2 units |2 units|” S
Lﬁ to another point on the line. B -

@ ﬁM ‘W\L S\W \(OTL\. So, the slope is —-%. * 1 l _
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v T L \ =L and bwith 4.
ﬂ 2 = =7

ZDD Chapter 3 Equations lin Two Variables

‘ V= '—-‘I + 4 Replace m will
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